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Q) The bisector of the acute angle between the straight Imes 3x
—4y—3=0and 12x + 5y+ 6 =0 passes through which one
of the following points ?
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Which one of the following points on the line 2x — 3y =31
equidistant from (1, 2) and (3, 4) ?

@ (7,3 ®) @1
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What is the equation of the straight line passing through
the point (2, 3) and making an intercept on the positive
Y-axis cqual to twice its intercept on the positive X-axis?
(@2x+y=5 O2x+y=7 (Cx+2y=7 ([d)2x —-y="1
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What is the radius of the circle
4x° +4y° —20x + 12y —15=0?

(a) 14 units (b) 10.5 units
(C) 7 units (d) 3.5 unity/”

Sfandard oo — %2+0!’Lf_§6;jx + {;%ﬁm = 0
0yt~ s+ 3y - 15
[ty s ,1
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The diagonals of a quadrilateral ABCD
are along the lines x-2y=1 and
4x +2y=3. The quadrilateral ABCD
may be a

(PYQ - 2024 - Il)

(aj rectangle

7.-- - - _ I _ ,

{b} cyclic quadrilateral G?J =/ — m( (2/901) - _; - __?.: .
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{c} parallelogram 4 '
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ABC is a triangle with A(3,5). The
mid-points of sides AB, AC are at
(-1, 2), (6,4) respectively. What are
the coordinates of centroid of the

(PYQ-2024 - 1)

triangle ABC ?
8 1 hG2)
(a) |3’ 3)
(7 7 (”/rZ) P Q (G,‘f)
o (53] "
(c) (2 ~3—] B 6(6}’93)
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EXAMS

The foci of the ellipse 4x2 +9y? =1 are (PYQ-2024 -1)

at Q and R If P(x, i) 1s any point on

the ellipse, then what is PQ+ PR ’Xl iy 2

equal to? — =)
A ]

{faj 2 P(X;J) (Lf }% (L+g_);;[

S 0> U»
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() 2/3 /
PN =
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. If a variable line passes through the
point of intersection of the lines
x+2y-1=0and 2x—-y-1=0
and meets the coordinate axes in
A and B, then what is the locus of
the mid-point of AB ?

(@ 3x+y=10xy

(b) x+3y=1’_0£_y\/

1= 3/5
| t= %)

(c) 3ax+y=10
(d) x+3y=10°? L/ 2 TAMQ VG/WJA%‘ Va
1 = \
(o?;(—/}(d: / 1 - __G_,- - al)a/d MOUIC{ fﬂ’/szff

9
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[E=]

EXAMS

. What 1s the equation to the straight
line passing through the point
(—sin@, cosf) and perpendicular to the
line xcosf + ysin@ = 9 ?
(@) xsinf — ycos@ — 1 =10
(b) xsinf — ycosf + 1 = O\/

(c) xsinf — ycosf =0

(d) xcosf — ysinf +1 =10



NDA 1 2025 LIVE CLASS - MATHS - PART 5

.Two points P and Q lie on line
y=2x+ 3. These two points P and Q
are at a distance 2 units from another
point R(1, 5). What are the coordinates
of the points P and Q ? '
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EXAMS

If two sides of a square lie on the lines
2x+y—-3=0and 4x+ 2y + 5 =0, then
what is the area of the square in square
units ?

’ AL+ 4-9 =0 s w S/(?DQ! aYe Efuos/
(a) 6-05/ ;
Q1+ 4+ 2 ¢

Wv‘a?d! t5 20 — 2 0 (s are /mm//ﬂ/,

(b) 615
) 625 ¢ p————F °?K+0f"3:0
d) 635
A7 IxtY 4520
- b= I

pes)
ngtffw 07[ tide = disfany befivery fara//d Lyt = J—z—\///;; 7
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Consider

Q@k, —4k)
y* =4kx. If the vertex is A, then what
is ZPAQ equal to?

(@)
(bj
(c)
(@)

60°

90° /"
120°
135°

the points

lying on

P4k, 4k) and

the

parabola
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EXAMS

If P(24) Q8 12), R(10, 14) and S(x, Y
are vertices of a parallelogram, then
what is (x+ y) equal to?

) 10 / p (2,4) ﬁ(@’m)
(c) 12 ((,Iﬂ) Dl‘“oqmm biggc/‘ d'f 0.

S(n y) R (114

) — (%j_’_? w):(é,?)
2/ 3

1.;,1/9/&(;_ 114 =10
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A triangle ABC is inscribed in the circle

) 3
x2 + y? =100. B and C have coordinates (6, 8) 1%7 = (00
and (-8 6) respectively. 97 — o ) ) 9
- 0
C,%,L (1-9) 7‘[0%0) = (10)
What is £ZBAC equal to? A (_g ; )
(@ /2 (6,8) 5 CTXNEN T entre p
(b) n/3or2n/3
J9 |4 or3n/a g/g/m of o8 =4 . Y
(d m/6or 5n/6 b 3
S/p/:c vaC:_Q, _ -3
..g 7
( K = Gp° [ ITr-d = 9270’
—
_f-(—:.qjo 27[."0? - /’gfa
o? 2

EXAMS
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(=]

EXAMS

What are the coordinates of A?
(a) (-6, 8)
(b) (-6 -8
(c) (542, 5v2)

(d) Cannot be determined due to
insufficient data
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What 1s the equation to the straight lme joining the origin

Y

to the point of mtersection of the lines E+g—1 and Al £ Q i = ab

,. 7

SR 0% 4 50‘(

b a

@ x+y=0 (b) x+y+1=0
y x—y=0 (d x+y+2=0 (6-—6\))( + (O-E)dl =0 — &:1

LIne (Ai‘a)lf (a+£)é( = Jab
(ﬂ/D) (_a_é_ ) -—a—[’—,)
046 a+b G(—fi 2 Qab

_ b
&—-0 = f(fx»o) ) a1
_ . s : 1 - Jab 2
&’l —7 0‘{(1 0 —7 Qib 7 ' dff-é) (7
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The value of & for which the lines 2x + 3y + a = 0 and
Sx + ky + a=0represent family of parallel lines 1s

@) 3 ®) 45
©) 7.5 @ 15
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The point of intersection of

diagonals of a square ABCD is at A \f
the origin and one of its vertices is A ( 40 )
at A(4,2). What is the equation of b —r /
the diagonal BD? — X
@2x+y=0_ (b)2x-y=0 —— 0
C)x+2y=0 (dyx —2y=20 e ’_________LD
\ -9, -2
passing f)rfvrf — (5,9) ) \/
e of AC= 43 ¥ L
peof rral R —-2(1—-0)
Sope of 8y = g &Hx = 0
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The equation of the tangents to the circle x* + y* = 4,

which are parallel tox + 2y + 3= 0, are
(a) x— 2y = 2 ) x+ 2y =+ 23
(@x+2y=im§/, d) x—2y=+2J5

.{0’0)

2

¢
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What are the coordinates of the foot of the
perpendicular from the point (2, 3) on the line

x+y—-11=07? ‘
(22,9 O 9 6) (© (56 (d)(65) lo,6) Ll oD PY,
M(s,9) n+4 -t = 0
&+ b = [/ _____-—-@
- 4 — = = Colv
mb q:+(7/ ~Il =p an]o(e / 0/Ve @ andf @/
t) r9)
!’/o]oe of AB = da = /0 /QL:/‘Q
A -5 ézé
3-5 =/ = 3-b = 3-a -
d- ]

R O T
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What 1s the locus of the point of imntersection of the straight
lines (x/a) + (y/b) =m and (x/a) — (y/b) = 1/m ?

(a) Circle (b) Parabola

(¢) Ellipse \/(d) Hyperbola
o, 4wy — L_y4 =L
= + = M)
a 5 @ 4 _é{b_ A
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